

Turkish Journal of Mathematics

http://journals.tubitak.gov.tr/math/

Research Article

Some operator inequalities associated with Kantorovich and Hölder–McCarthy inequalities and their applications

Hamdullah BAŞARAN, Mehmet GÜRDAL^{*}, Ayşe Nur GÜNCAN

Department of Mathematics, Faculty of Arts and Sciences, Süleyman Demirel University, Isparta, Turkey

Received: 02.11.2018	•	Accepted/Published Online: 03.01.2019	•	Final Version: 18.01.2019

Abstract: We prove analogs of certain operator inequalities, including Hölder–McCarthy inequality, Kantorovich inequality, and Heinz–Kato inequality, for positive operators on the Hilbert space in terms of the Berezin symbols and the Berezin number of operators on the reproducing kernel Hilbert space.

Key words: Reproducing kernel Hilbert space, Berezin symbol, Berezin number, positive operator, Hölder–McCarthytype inequality, Kantorovich-type inequality, Heinz–Kato inequality

1. Introduction

We study operator inequalities associated mainly with Kantorovich inequality and Hölder–McCarthy inequality. In this paper, we give analogies of these inequalities for the Berezin symbols of operators and give their applications in proving some direct and inverse power inequalities for Berezin number of some concrete classes of operators on the reproducing kernel Hilbert space. Recall that an operator on a Hilbert space is called positive, if $\langle Ax, x \rangle \geq 0$ for all $x \in H$. Shortly, the positive operator will be denoted as $A \geq 0$.

The famous Kantorovich inequality is the following [6].

Theorem 1 (Kantorovich inequality) Let A be a positive operator on a Hilbert space H such that $M \ge A \ge m > 0$. Then the following inequalities hold for every unit vector x in H:

(i) $\langle Ax, x \rangle \langle A^{-1}x, x \rangle \leq \frac{(m+M)^2}{4mM}$. (ii) $\langle A^2x, x \rangle \leq \frac{(m+M)^2}{4mM} \langle Ax, x \rangle^2$.

Notice that the constant $\frac{(m+M)^2}{4mM}$ in Theorem 1 can be expressed as follows: $\frac{(m+M)^2}{4mM} = \left[\frac{m+M}{2}\right]^2$, that is, inside the bracket [], the numerator is the arithmetic mean and the denominator is the geometric mean of m and M, respectively. This constant $\frac{(m+M)^2}{4mM}$ is called the Kantorovich constant (see Furuta [6]).

In the present article, we will use a weak variant of the Kantorovich inequality by using normalized reproducing kernels of reproducing kernel Hilbert spaces and use the obtained new inequalities in estimating the Berezin number of operators.

^{*}Correspondence: gurdalmehmet@sdu.edu.tr

²⁰⁰⁰ AMS Mathematics Subject Classification: Primary 47A63; Secondary 26D15, 47B10

Recall that a reproducing kernel Hilbert space (RKHS) is the Hilbert space $\mathcal{H} = \mathcal{H}(\Omega)$ of complex-valued functions on some set Ω such that:

- (a) the evaluation functional $f \to f(\lambda)$ is continuous for each $\lambda \in \Omega$;
- (b) for every $\lambda \in \Omega$ there exists $f_{\lambda} \in \mathcal{H}$ such that $f_{\lambda}(\lambda) \neq 0$.

Then by the Riesz theorem for each $\lambda \in \Omega$ there exists a unique function $k_{\lambda} \in \mathcal{H}$ such that

$$f(\lambda) = \langle f, k_\lambda \rangle$$

for all $f \in \mathcal{H}$. The function k_{λ} is called the reproducing kernel of the space \mathcal{H} . It is well-known that (see [2])

$$k_{\lambda}\left(z\right) = \sum_{n=0}^{\infty} \overline{e_n\left(\lambda\right)} e_n\left(z\right)$$

for any orthonormal basis $\{e_n(z)\}_{n\geq 0}$ of the space $\mathcal{H}(\Omega)$. Let \hat{k}_{λ} denote the normalized reproducing kernel: $\hat{k}_{\lambda} := \frac{k_{\lambda}}{\|k_{\lambda}\|_{\mathcal{H}}}$ (note that by (b), we surely have $k_{\lambda} \neq 0$). For a bounded linear operator A on the RKHS \mathcal{H} (i.e. for $A \in \mathcal{B}(\mathcal{H})$, the Banach algebra of all bounded linear operators on \mathcal{H}), its so-called Berezin symbol \widetilde{A} is defined by (see Berezin [3, 4], Nordgren and Rosenthal [15], Engliš [5], and Zhu [17])

$$\widetilde{A}(\lambda) := \left\langle A \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle_{\mathcal{H}} \ (\lambda \in \Omega) \,.$$

It follows from the Cauchy-Scwartz inequality that \widetilde{A} is a bounded function and

$$\sup_{\lambda \in \Omega} \left| \widetilde{A} \left(\lambda \right) \right| \le \left\| A \right\|.$$

The Berezin set of A is the range of the Berezin symbol \widetilde{A} :

$$Ber(A) = Range\left(\widetilde{A}\right) = \left\{\widetilde{A}(\lambda) : \lambda \in \Omega\right\}$$
$$= \left\{\left\langle A\widehat{k}_{\lambda}, \widehat{k}_{\lambda}\right\rangle : \lambda \in \Omega\right\}.$$

The Berezin number of operator A is defined by

$$ber(A) := \sup_{\lambda \in \Omega} \left| \widetilde{A}(\lambda) \right|.$$

The numerical range and the numerical radius of operator A on a Hilbert space H are, respectively,

$$W(A) := \{ \langle Ax, x \rangle : x \in \mathcal{H} \text{ and } \|x\| = 1 \}$$

and

$$w(A) := \sup \{ |\langle Ax, x \rangle| : x \in \mathcal{H} \text{ and } \|x\| = 1 \}.$$

It is immediate from the above definitions that $Ber(A) \subseteq W(A)$ and $ber(A) \leq w(A)$. So, it is natural to investigate Ber(A) and ber(A) for operators $A \in \mathcal{B}(\mathcal{H})$. For more detail informations about the Berezin set, Berezin number and their relations with the numerical range and numerical radius, the reader can be found in Karaev [14], Garayev et al. [8], Garayev et al. [9], Garayev et al. [13], Gürdal et al. [11], Gürdal et al. [12], Yamancı et al. [16], Altwaijry et al. [10], and Garayev [7].

2. Kantorovich inequality, Hölder–McCarthy inequality, and Berezin symbols

Here, we give some operator inequalities associated with extensions of Kantorovich inequality in Theorem 1 and Hölder–McCarthy inequality in terms of the Berezin symbols. Namely, we prove the following.

Theorem 2 Let A be a positive operator on a RKHS $\mathcal{H} = \mathcal{H}(\Omega)$ satisfying

$$0 < m \le \widetilde{A} \le M_{\rm s}$$

where \widetilde{A} is the Berezin symbol of operator A. Also let f(t) be a real-valued continuous convex function on [m, M]. Then

$$\widetilde{f(A)}(\lambda) \leq \frac{\left(mf(M) - Mf(m)\right)}{\left(q - 1\right)\left(M - m\right)} \left(\frac{\left(q - 1\right)\left(f(M) - f(m)\right)}{q\left(mf(M) - Mf(m)\right)}\right)^{q} \widetilde{A}(\lambda)^{q}$$
(1)

under any one of the following conditions (2) and (3), respectively:

$$f(M) > f(m), \frac{f(M)}{M} > \frac{f(m)}{m} \text{ and } \frac{f(m)}{m}q \le \frac{f(M) - f(m)}{M - m} \le \frac{f(M)}{M}q$$
 (2)

holds for any real number q > 1,

$$f(M) < f(m), \frac{f(M)}{M} < \frac{f(m)}{m} \text{ and } \frac{f(m)}{m}q \le \frac{f(M) - f(m)}{M - m} \le \frac{f(M)}{M}q$$

$$\tag{3}$$

holds for any real number q < 0.

The proof of the theorem uses the following lemma (see Furuta [6]).

Lemma 1 Let h(t) be defined on [m, M] (M > m > 0) by the following formula

$$h(t) = \frac{1}{t^q} \left(k + \frac{K - k}{M - m} \left(t - m \right) \right),\tag{4}$$

where q is any real number such that $q \neq 0, 1$ and K and k are any real numbers.

Then h(t) has the following upper bound on [m, M]:

$$\frac{(mK-Mk)}{(q-1)(M-m)} \left(\frac{(q-1)(K-k)}{q(mK-Mk)}\right)^q,\tag{5}$$

where m, M, k, K, and q in (5) satisfy any one of the following conditions (i) and (ii), respectively:

(i) K > k, $\frac{K}{M} > \frac{k}{m}$ and $\frac{k}{m}q \le \frac{K-k}{M-m} \le \frac{K}{M}q$ holds for any real number q > 1; (ii) K < k, $\frac{K}{M} < \frac{k}{m}$ and $\frac{k}{m}q \le \frac{K-k}{M-m} \le \frac{K}{M}q$ holds for any real number q < 0.

Proof For the sake of completeness, we give a sketch of the proof. Indeed, by an easy differential calculus, we have $h'(t_1) = 0$ when $t_1 = \frac{q}{(q-1)} \frac{(mK-Mk)}{(K-k)}$, and it turns out that t_1 satisfies the required condition $t_1 \in [m, M]$. Also t_1 gives the upper bound (5) of h(t) on the segment [m, M] under any one of the conditions (i) and (ii), respectively. **Proof** [Proof of Theorem 2]Since f(t) is a real-valued continuous convex function on [m, M], we obtain that

$$f(t) \le f(m) + \frac{f(M) - f(m)}{M - m} (t - m) \text{ for any } [m, M].$$
 (6)

By applying the standard operational calculus of positive operator A to (6) since $M \ge \widetilde{A}(\lambda) \ge m$, we obtain that

$$\widetilde{f(A)}(\lambda) \le f(m) + \frac{f(M) - f(m)}{M - m} \left(\left\langle A\hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle - m \right).$$
(7)

Multiplying $\widetilde{A}(\lambda)^{-q}$ on both sides of (7), we get

$$\widetilde{A}(\lambda)^{-q} \widetilde{f(A)}(\lambda) \le h(t), \qquad (8)$$

where $h(t) = \widetilde{A}(\lambda)^{-q} \left[f(m) + \frac{f(M) - f(m)}{M - m} \left(\widetilde{A}(\lambda) - m \right) \right]$ for all $\lambda \in \Omega$. Then we obtain

$$\widetilde{f(A)}(\lambda) \le \left[\max_{m \le t \le M} h(t)\right] \widetilde{A}(\lambda)^{q}$$
(9)

for all $\lambda \in \Omega$. Putting K = f(M) and k = f(m) in Theorem 2, we see that (i) and (ii) in Theorem 2 just correspond to (i) and (ii) in Lemma 1 so the proof is completed by (9) and Lemma 1.

Corollary 1 Let A be an invertible self-adjoint operator on a RKHS $\mathcal{H} = \mathcal{H}(\Omega)$ satisfying $M \ge \widetilde{A} \ge m > 0$. Then

$$ber (A^{p}) \leq \frac{(mM^{p} - Mm^{p})}{(q-1)(M-m)} \left(\frac{(q-1)(M^{p} - m^{p})}{q(mM^{p} - Mm^{p})}\right)^{q} ber (A)^{q}$$
(10)

under any of the following conditions (i) and (ii), respectively:

(i) $m^{p-1}q \leq \frac{M^p - m^p}{M - m} \leq M^{p-1}q$ holds for real numbers p > 1 and q > 1; (ii) $m^{p-1}q \leq \frac{M^p - m^p}{M - m} \leq M^{p-1}q$ holds for real numbers p < 0 and q < 0.

Proof The proof is similar to the proof in [6]. Put $f(t) = t^p$ for $p \notin [0,1]$ in Theorem 2. As f(t) is a real valued continuous convex function on [m, M], $M^p > m^p$ and $M^{p-1} > m^{p-1}$ hold for any p > 1, that is, f(M) > f(m) and $\frac{f(M)}{M} > \frac{f(m)}{m}$ for any p > 1. Also, $M^p < m^p$ and $M^{p-1} < m^{p-1}$ hold for any p < 0, that is, f(M) < f(m) and $\frac{f(M)}{M} < \frac{f(m)}{m}$ for any p < 0, respectively. So by Theorem 2, we have for any $\lambda \in \Omega$ that

$$\left\langle A^{p}\widehat{k}_{\lambda},\widehat{k}_{\lambda}\right\rangle \leq \frac{\left(mM^{p}-Mm^{p}\right)}{\left(q-1\right)\left(M-m\right)}\left(\frac{\left(q-1\right)\left(M^{p}-m^{p}\right)}{q\left(mM^{p}-Mm^{p}\right)}\right)^{q}\left\langle A\widehat{k}_{\lambda},\widehat{k}_{\lambda}\right\rangle^{q}$$

which gives us inequality (10), as desired.

3. Hölder-McCarthy, Kantorovich, and Berezin number inequalities

Now we give our next result associated with Hölder–McCarthy and Kantorovich inequalities.

Theorem 3 Let A be a positive operator on a RKHS $\mathcal{H} = \mathcal{H}(\Omega)$ satisfying $M \ge \tilde{A} \ge m > 0$. Then for every p > 1 we have :

$$\operatorname{ber}(A)^{p} \leq \operatorname{ber}(A^{p}) \leq K_{+}(m, M, p) \operatorname{ber}(A)^{p}, \qquad (11)$$

where $K_+(m, M, p) = \frac{(p-1)^{p-1}}{p^p} \frac{(M^p - m^p)^p}{(M-m)(mM^p - Mm^p)^{p-1}}.$

Proof As $f(t) = t^p$ is a convex function for $p \notin [0,1]$, (i) in Corollary 1 holds in the case where $p \notin [0,1]$ and q = p so that the second inequality in (11) holds by Corollary 1. The first inequality in (11) follows by Hölder–McCarthy inequality.

Corollary 2 Let A be a positive operator on a RKHS $\mathcal{H} = \mathcal{H}(\Omega)$ such that $M \ge A \ge m > 0$. Then

$$ber (A)^{p} ber (A^{-1}) \leq \frac{p^{p}}{(p+1)^{p+1}} \frac{(m+M)^{p+1}}{mM}$$
(12)

and

$$ber(A^{2}) \leq \frac{p^{p}}{(p+1)^{p+1}} \frac{(m+M)^{p+1}}{(mM)^{p}} ber(A)^{p+1}$$
(13)

for any p such that $\frac{m}{M} \leq p \leq \frac{M}{m}$.

Proof In (ii) of Corollary 1, we only have to put p = -1, and replacing q by -p for p > 0, we get (12).

In (i) of Corollary 1, we only have to put p = 2 and replace q by p + 1 for p > 0 to get (13).

When p = 1, Corollary 2 becomes the following Kantorovich type inequality :

$$ber(A) ber(A^{-1}) \leq \frac{1}{2} \frac{(m+M)^2}{mM}.$$

It is easy to see that $0 < B \le A$ ensures $ber(B^p) \le ber(A^p)$ for any $p \in [0,1]$ (by well known Löwner-Heinz theorem). However, $0 < B \le A$ does not always ensure $ber(B^p) \le ber(A^p)$ for any p > 1.

For such consideration, we prove the following theorem.

Theorem 4 Let A and B be positive operators on a RKHS $\mathcal{H} = \mathcal{H}(\Omega)$ such that

$$M_1 \ge A \ge m_1 > 0$$
$$M_2 \ge B \ge m_2 > 0$$
$$A \ge B > 0.$$

Then

$$ber(B^p) \ge K_{2,p}ber(A^p) \le \left(\frac{M_2}{m_2}\right)^{p-1}ber(A^p)$$
(13)

and

$$ber(B^p) \ge K_{1,p}ber(A^p) \le \left(\frac{M_1}{m_1}\right)^{p-1}ber(A^p)$$
(14)

BAŞARAN et al./Turk J Math

hold for any $p \ge 1$, where $K_{1,p}$ and $K_{2,p}$ are defined by the following:

$$K_{1,p} = \frac{(p-1)^{p-1}}{p^p (M_1 - m_1)} \frac{(M_1^p - m_1^p)^p}{(m_1 M_1^p - M_1 m_1^p)^{p-1}}$$

and

$$K_{2,p} = \frac{(p-1)^{p-1}}{p^p (M_2 - m_2)} \frac{(M_2^p - m_2^p)^p}{(m_2 M_2^p - M_2 m_2^p)^{p-1}}.$$

For the proof, we need the following lemma (see Furuta [6, Proposition 2, p. 194]).

Lemma 2 If $x \ge 1$, then

$$\frac{(p-1)^{p-1} (x^p - 1)^p}{p^p (x-1) (x^p - x)^{p-1}} \le x^{p-1} \text{ for } 1$$

and the equality holds if and only if $x \downarrow 1$.

Proof [Proof of Theorem 4]For p = 1, the result is trivial. So, we consider only p > 1. First of all, whenever $M \ge m > 0$, we recall the following inequality by putting $x = \frac{M}{m} (\ge 1)$ in Lemma 2 :

$$\frac{(p-1)^{p-1}}{p^p} \frac{(M^p - m^p)^p}{(M-m)(mM^p - Mm^p)^{p-1}} \le \left(\frac{M}{m}\right)^{p-1}$$
(15)

for p > 1. For p > 1, by using Hölder–McCarthy inequality and inequality (15), we have

$$\widetilde{B^{p}}(\lambda) = \left\langle B^{p}\widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle$$

$$\leq K_{2,p} \left\langle B\widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle^{p} \text{ (by (11) of Theorem 3)}$$

$$\leq K_{2,p} \left\langle A\widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle^{p} \text{ (by } 0 < B \leq A)$$

$$\leq K_{2,p} \left\langle A^{p}\widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \leq \left(\frac{M_{2}}{m_{2}}\right)^{p-1} \left\langle A^{p}\widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle$$

for all $\lambda \in \Omega$. Taking supremum from both sides of these inequalities, we have the desired inequalities (13). Now let us prove (14). Indeed, as $0 < A^{-1} \le B^{-1}$ and $M_1^{-1} \le A^{-1} \le m_1^{-1}$, then by applying (13), we have for all $\lambda \in \Omega$ that

$$\begin{split} \widetilde{A^{-p}} \left(\lambda \right) &= \left\langle A^{-p} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \\ &\leq \frac{(p-1)^{p-1}}{p^{p} \left(m_{1}^{-1} - M_{1}^{-1} \right)} \frac{\left(m_{1}^{p} - M_{1}^{-p} \right)^{p}}{\left(M_{1}^{-1} m_{1}^{-p} - m_{1}^{-1} M_{1}^{-p} \right)^{p-1}} \left\langle B^{-p} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \\ &\leq \frac{(p-1)^{p-1}}{p^{p} \left(M_{1} - m_{1} \right)} \frac{\left(M_{1}^{p} - m_{1}^{p} \right)^{p}}{\left(m_{1} M_{1}^{p} - M_{1} m_{1}^{p} \right)^{p-1}} \left\langle B^{-p} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \\ &\leq K_{1,p} \left\langle B^{-p} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \leq \left(\frac{M_{1}}{m_{1}} \right)^{p-1} \left\langle B^{-p} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \\ &\leq \left(\frac{M_{1}}{m_{1}} \right)^{p-1} \widetilde{B^{-p}} \left(\lambda \right), \end{split}$$

which implies (14) by taking inverses in both sides of the inequality above and taking supremum over λ in Ω , so the proof is finished.

Corollary 3 If $0 < B \le A$ and $0 < m \le B \le M$, then

$$ber (B^p) \le \left(\frac{M}{m}\right)^p ber (A^p) \text{ for } p \ge 1.$$
(16)

We remark that (13) and (14) of Theorem 4 are more precise estimations than (16) since $K_{j,p} \leq \left(\frac{M_j}{m_j}\right)^{p-1} \leq \left(\frac{M_j}{m_j}\right)^p$ holds for j = 1, 2 and $p \geq 1$.

Proposition 1 Let A be a positive operator such that $M \ge A \ge m > 0$ and B be a positive contraction. Then

$$ber (BAB) \le \frac{(M+m)^2}{4mM} ber (A).$$
(17)

Proof Since A^{-1} exists, by the Kantorovich inequality, we have

$$\langle ABx, Bx \rangle \langle A^{-1}Bx, Bx \rangle \le K \|Bx\|^4$$

for every $x \in H$, where $K := \frac{(M+m)^2}{4mM}$. In particular,

$$\begin{split} \left\langle AB\hat{k}_{\lambda}, B\hat{k}_{\lambda} \right\rangle \left\langle A^{-1}B\hat{k}_{\lambda}, B\hat{k}_{\lambda} \right\rangle &\leq K \left\langle B^{2}\hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle^{2} \\ &\leq K \left\langle B\hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle^{2} \text{ (by } I \geq B \geq 0) \\ &= K \left\langle A^{-1/2}B\hat{k}_{\lambda}, A^{1/2}\hat{k}_{\lambda} \right\rangle^{2} \\ &\leq K \left\langle A^{-1}B\hat{k}_{\lambda}, B\hat{k}_{\lambda} \right\rangle \left\langle A\hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle \end{split}$$

for all $\lambda \in \Omega$. From this by standard arguments, we get (17).

BAŞARAN et al./Turk J Math

4. Selberg inequality, an extension of the Heinz-Kato inequality and Berezin number inequalities The celebrated Selberg inequality (see Furuta [6]) is very useful in the prime number theory, which is an extension of the classical Bessel's inequality. Namely, if $x_1, x_2, ..., x_n \in H \setminus \{0\}$, then

$$\sum_{i=1}^{n} \frac{|\langle x, x_i \rangle|^2}{\sum_{j=1}^{n} |\langle x_i, x_j \rangle|} \le ||x||^2.$$
(18)

The equality in (18) holds if and only if $x = \sum_{i=1}^{n} a_i x_i$ for some complex scalars $a_1, a_2, ..., a_n$ such that for arbitrary $i \neq j$, $\langle x_i, x_j \rangle = 0$ or $|a_i| = |a_j|$ with $\langle a_i x_i, a_j x_j \rangle \ge 0$.

Proposition 2 Let A be a bounded linear operator on the Hardy-Hilbert space $H^2 = H^2(\mathbb{D})$ of analytic functions $f(z) = \sum_{n=0}^{\infty} a_n z^n$ on the unit disc $\mathbb{D} = \{z \in \mathbb{C} : |z| < 1\}$ such that $||f||_{H^2} := \left(\sum_{n=0}^{\infty} |a_n|^2\right)^{1/2} < +\infty$. If $A\hat{k}_{\lambda} \neq 0$ for all $\lambda \in \mathbb{D}$, then

$$ber\left(|A|^{2}\right) \geq \sup_{\lambda,n} \sum_{i=1}^{n} \frac{\left|\left\langle A\widehat{k}_{\lambda}, \widehat{k}_{\lambda_{i}}\right\rangle\right|}{\sum_{j=1}^{n} \frac{\left(1-|\lambda_{i}|^{2}\right)^{1/2} \left(1-|\lambda_{j}|^{2}\right)}{\left|1-\overline{\lambda_{i}}\lambda_{j}\right|}}$$

where $|A| := (A^*A)^{\frac{1}{2}}$ is the module of A.

Proof For the proof, it is enough to put in Selberg inequality (18) $x = A\hat{k}_{\lambda}$ and $x_i = \hat{k}_{\lambda_i}$ (i = 1, 2, ..., n); we omit the details.

Theorem 5 Let $T \in \mathcal{B}(\mathcal{H}(\Omega))$ be any operator and A and B be two positive operators such that

$$\left\|T\widehat{k}_{\lambda}\right\| \leq \left\|A\widehat{k}_{\lambda}\right\| \text{ and } \left\|T^{*}\widehat{k}_{\mu}\right\| \leq \left\|B\widehat{k}_{\mu}\right\|$$

for all $\lambda \in \Omega$. Then

$$\sup_{\lambda,\mu\in\Omega} \left| \left\langle T \left| T \right|^{\alpha+\beta-1} \widehat{k}_{\lambda}, \widehat{k}_{\mu} \right\rangle \right| \le ber\left(\left| A^{\alpha} \right|^{2} \right) ber\left(\left| B^{\beta} \right|^{2} \right)$$
(19)

for any α and β such that $\alpha, \beta \in [0, 1]$ and $\alpha + \beta \geq 1$.

Proof It is a consequence of the Löwner–Heinz inequality [6] that if

$$\widetilde{A} \ge \widetilde{B} \ge 0$$
, then $\widetilde{A^{\alpha}} \ge \widetilde{B^{\alpha}}$ (20)

for each $\alpha \in [0,1]$. On the other hand, the hypothesis $\left\|T\hat{k}_{\lambda}\right\| \leq \left\|A\hat{k}_{\lambda}\right\|$ for all $\lambda \in \Omega$ is equivalent to

$$\widetilde{|T|^2} \le \widetilde{|A|^2},\tag{21}$$

and also the hypothesis $\left\|T^*\hat{k}_{\mu}\right\| \leq \left\|B\hat{k}_{\mu}\right\|$ for all $\mu \in \Omega$ is equivalent to

$$\widetilde{\left|T^*\right|^2} \le \widetilde{\left|B\right|^2}.\tag{22}$$

Hence, applying (20) to (21) and (22), for any $\lambda, \mu \in \Omega$, we obtain :

$$\left\langle |T|^{2\alpha} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \leq \left\langle A^{2\alpha} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle$$

$$\tag{23}$$

for each $\alpha \in [0,1]$;

$$\left\langle \left|T^*\right|^{2\beta} \widehat{k}_{\mu}, \widehat{k}_{\mu} \right\rangle \le \left\langle B^{2\beta} \widehat{k}_{\mu}, \widehat{k}_{\mu} \right\rangle \tag{24}$$

for each $\beta \in [0,1]$.

Let T = U |T| be the polar decomposition of an operator T, where U is a partial isometric operator and $|T| := (T^*T)^{1/2} = \sqrt{T^*T}$ and ker (U) = ker(|T|). In the case where $\alpha, \beta \in [0, 1]$ such that $\beta > 0$ and $\alpha + \beta \ge 1$, we recall the following important relation shown in [6]:

$$|T^*|^{2\beta} = U |T|^{2\beta} U^*$$
 holds for any $\beta > 0.$ (25)

Then, we have for all $\lambda, \mu \in \Omega$ that

$$\begin{split} \left| \left\langle T \left| T \right|^{\alpha+\beta-1} \widehat{k}_{\lambda}, \widehat{k}_{\mu} \right\rangle \right|^{2} &= \left| \left\langle U \left| T \right|^{\alpha+\beta} \widehat{k}_{\lambda}, \widehat{k}_{\mu} \right\rangle \right|^{2} \\ &= \left| \left\langle \left| T \right|^{\alpha} \widehat{k}_{\lambda}, \left| T \right|^{\beta} U^{*} \widehat{k}_{\mu} \right\rangle \right|^{2} \\ &\leq \left\| \left| T \right|^{\alpha} \widehat{k}_{\lambda} \right\|^{2} \left\| \left| T \right|^{\beta} U^{*} \widehat{k}_{\mu} \right\|^{2} \\ &= \left\langle \left| T \right|^{2\alpha} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \left\langle U \left| T \right|^{2\beta} U^{*} \widehat{k}_{\mu}, \widehat{k}_{\mu} \right\rangle \\ &= \left\langle \left| T \right|^{2\alpha} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \left\langle \left| T^{*} \right|^{2\beta} \widehat{k}_{\mu}, \widehat{k}_{\mu} \right\rangle \text{ (by (25))} \\ &\leq \left\langle A^{2\alpha} \widehat{k}_{\lambda}, \widehat{k}_{\lambda} \right\rangle \left\langle B^{2\beta} \widehat{k}_{\mu}, \widehat{k}_{\mu} \right\rangle \text{ (by (23) and (24))} \end{split}$$

for any α and β such that $\alpha, \beta \in [0, 1]$ and $\alpha + \beta \ge 1$; that is, (19) holds because the result is trivial in the case where $\beta = 0$. Whence by taking suprema over λ and n the proof of Theorem 5 is complete.

Let $\alpha + \beta = 1$ in Theorem 5 in particular. Then, we obtain the following Heinz–Kato-type inequality.

Proposition 3 Let T be any operator on a RKHS $\mathcal{H} = \mathcal{H}(\Omega)$. If A and B are positive operators such that $\left\|T\hat{k}_{\lambda}\right\| \leq \left\|A\hat{k}_{\lambda}\right\|$ and $\left\|T^{*}\hat{k}_{\mu}\right\| \leq \left\|B\hat{k}_{\mu}\right\|$ for all $\lambda, \mu \in \Omega$, then $\sup_{\lambda,\mu\in\Omega} \left|\left\langle T\hat{k}_{\lambda}, \hat{k}_{\mu}\right\rangle\right| \leq ber\left(|A^{\alpha}|^{2}\right)ber\left(|B^{1-\alpha}|^{2}\right)$ (26)

for any $\alpha \in [0,1]$.

Since
$$\sup_{\lambda \in \Omega} \left| \left\langle T \hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle \right| \le \sup_{\lambda, \mu \in \Omega} \left| \left\langle T \hat{k}_{\lambda}, \hat{k}_{\mu} \right\rangle \right|$$
, inequality (26) implies that
 $ber(T) \le ber\left(|A^{\alpha}|^2 \right) ber\left(|B^{1-\alpha}|^2 \right), \ \forall \alpha \in [0, 1].$

BAŞARAN et al./Turk J Math

Acknowledgment

This work was supported by Süleyman Demirel University with Project FYL-2018-6700.

References

- Altwaijry N, Baazeem AS, Garayev M. Distance estimates, norm of Hankel operators and related questions. Operators and Matrices 2018; 12: 157-168.
- [2] Aronzajn N. Theory of reproducing kernels. Transactions of the American Mathematical Society 1950; 68: 337-404.
- Berezin FA. Covariant and contravariant symbols for operators. Mathematics of the USSR-Izvestiya 1972; 6: 1117-1151. doi: 10.1070/IM1972v006n05ABEH001913.
- [4] Berezin FA. Quantization. Izvestiya: Mathematics 1974; 8: 1109-1163.
- [5] Engliś M. Toeplitz operators and the Berezin transform on H^2 . Linear Algebra and its Applications 1995; 223: 171-204. doi: 10.1016/0024-3795(94)00056-J.
- [6] Furuta T. Invitation to Linear Operators, From Matrices to bounded linear operators on a Hilbert space. London, UK: Taylor & Francis, 2001.
- [7] Garayev MT. Berezin symbols, Hölder-McCarthy and Young inequalities and their applications. Proceedings of the Institute of Mathematics and Mechanics, National Academy of Sciences of Azerbaijan 2017; 43: 287-295.
- [8] Garayev MT, Guediri H, Sadraoui H. Applications of reproducing kernels and Berezin symbols. New York Journal of Mathematics 2016; 22: 583-604.
- [9] Garayev MT, Gürdal M, Okudan A. Hardy-Hilbert's inequality and Power inequalities for Berezin numbers of operators. Mathematical Inequalities and Applications 2016; 19: 883-891. doi: 10.7153/mia-19-64.
- [10] Garayev MT, Gürdal M, Saltan S. Hardy type inequality for reproducing kernel Hilbert space operators and related problems. Positivity 2017; 21(4): 1615-1623.
- [11] Gürdal M, Garayev MT, Saltan S. Some concrete operators and their properties. Turkish Journal of Mathematics 2015; 39: 970-989. doi: 10.3906/mat-1502-48.
- [12] Gürdal M, Garayev MT, Saltan S, YamancıU. On some numerical characteristics of operators. Arab Journal of Mathematical Sciences 2015; 21: 118-126. doi: 10.1016/j.ajmsc.2014.05.001.
- [13] Gürdal M, YamancıU, Garayev M. Some results for operators on a model space. Frontiers of Mathematics in China 2018; 13: 287-300. doi: 10.1007/s11464-018-0690-3.
- [14] Karaev MT. Reproducing kernels and Berezin symbols techniques in various questions of operator theory. Complex Analysis and Operator Theory 2013; 7: 983-1018. doi: 10.1007/s11785-012-0232-z.
- [15] Nordgren E, Rosenthal P. Boundary values of Berezin symbols, Nonselfadjoint operators and related topics. In: Feintuch A, Gohberg I, editors. Nonselfadjoint Operators and Related Topics/Workshop on Operator Theory and Its Applications. Berlin, Germany: Birkhäuser, 1994, pp. 362-368.
- [16] YamancıU, Gürdal M, Garayev MT. Berezin number inequality for convex function in Reproducing Kernel Hilbert Space. Filomat 2017; 31: 5711-5717.
- [17] Zhu K. Operator Theory in Function Spaces, Mathematical Surveys and Monographs, 138. 2nd ed. American Mathematical Society, Providence RI 2007.